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1. The horizontal rigid beam ABCD is supported by vertical bars BE and CF
and is loaded by vertical forces 2= 100k and =110 k. Bars BE and CF
are made of steel (E=29x10® psi) and have cross-sectional areas A,=18in’
and 4,=192 in’. Determine the vertical displacements at points A, B, C,
and D. 20% (¥:9-1) 201
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A cantilever beam AB loaded by a uniform load and a concentrated load is

constructed of a channel section. Find the maximum tensile stress and

maximum compressive stress. (Neglect the weight of the beam)  20%
(¥ig.2)

3. A sign is supported by a pipe having outer diameter 100 mm and inner
diameter 75 mm. The wind pressure against the sign ts 2.0 kPa. Determine

the maximum in-plane shear stress due te the wind pressure on the sign ot

points A, B, and C, located on the outer surface at the base of the pipe.
25%  (F:§.2)

4. Find the angle of rotation ¢, and deflection &, atthe free end B of a

cantilever beam ACB supporting a uniform load of intensity q acting over
the right-hand half of the beam. (Use moment-area method)  20% Fibe
( (:.*‘c») 4 ) —{{{«— 100 mm o
5. Explanations: 15% )1( ;l(
(a) Flexural nigidity
(b) Statically indeterminate structure B
(¢) Brittle material B C
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